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only correct answer should be
written in the answer-book,
Question Numbers 11 to 18 are
Very Short Answer Type, which
are to be answered in about 50
words each, Question Numbers
19 to 24 are Short Answer Type,
which are to be answered in
about 150 words each and
Question Numbers 25 to 27 are
Long Answer Type, which are to
be answered in about 300 words
each.

Allotted marks of all the

questions are given against
them.
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( sgfawedia 99 )

( Multiple Choice Type Questions )
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Write the correct answers of the following
questions in your answer-book :
1. Normative economics deals with

a) opinions of economists

b) what ought to be

c) both (a) and (b)

d) none of these. 1

2. Demand of a good by Consumer-A is
10 units and by Consumer-B 20 units.

Then market demand will be
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3. In perfect competition, there i§
a) AR=MR
b) AR>MR
c) AR<MR |
d) None of these. 1
4. When p‘roduction is zero, total cost will
be
a) zero

b) equal to fixed cost

c) equal to variable costs

d) equal to marginal cost.

S. Wages are

a) explicit cost

b) implicit cost

c) opportunity cost
d)  none of these.
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Slope of savings line(S) is shown by

a) MDC

b) MDS

c) 1-MDC

d) both (b) and (c). 1

Net Domestic Product { NDP ) =

a) GDP — Depreciation

b) GDP + Depreciétion .

c) GNP — Depreciation

d) GNP+ Depreciatioh. 1

Maximum rate of income tax in India, at

present is

a) 10% _ b) 20%
c) - 30% . d) 40%. 1
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9. For controlling inflation Repo Rate

a) is increased

b) is decreased

c) is kept constant

d) does not affect inflation. 1

10. Which of the following is not a function

of Reserve Bank of Indiag ?
a) Bank of last resort

b) Control of credit

¢) Issuing of notes

d) Credit creation.
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( Very Short Answer Type Questions ) ’
11. e JAYIEH ;T E ? 3 16. Define bank rate. 3
17. STl ARSI & ST T & 2 3
11. What is micro-economics ? 3
P : . h understand by natural
12. HET Qo T @A € 7 3 17. What do you

unemployment ? 3

12. What do you understand by 'demand’ ? 3 o
18. TP ST . % Fpdl oA W@ Il H

[ s gt & 2 3
13, T S&E [T et fofigd | 1+1+1
t ubstitute goods ? 3 o
13. What are s & 18. Write any three major objectives of
14. S1E ¥ 3a T § 2 L 3 government budget. 1+1+1
14. What do you understand by budget (=9 I 9T )
) ( Short Answer Type Questions )
3
set ? 19. Ay fdt &g H Wl IHR FHA 10 To A
s e T ? 3 HTHT 9 To & Wl & TEF werawq IFH!
o | T agET 100 ¥ SgHT 110 THIE & et g,
15. What is balance of payments ? 3 ar ot fafa J =7 =6 o= Ia ST | 6
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If the price of a commodity reduces from
Rs. 10 to Rs. 9 and as a result its
demand increases from 100 units to
110 units, in such a case, calculate
elasticity of demand. 6

20. YTHH-GFA 3R AUR-Gqed § <R W=
FINTT | 6
20. Differentiate between balance of payment
and balance of trade. 6
21. SHd T | ¥ ? T O IR W =ARET
SIS | https://www.upboardonline.com 2 + 4
21. What is price floor ? Explain it with the
help of a diagram. 2+4
22. B el ¥ U o I S 6
o
gl = 8,000
L = 5,000
=1 = 1,000
T = 4,000
Slke = 2,000
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22. Calculate National Income from ty,

23.

23,

24,

24,

o L YA LR

following data : 6
Rs.
Wages = 8,000
Salary = 5,000
Interest = 1,000
Rent = 4,000
Profit = 2,000

6

What is M, measurement of monev

supply ?
Pply 6
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( fawga sudg we )
( Long Answer Type Questions )
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Explain consumer's equilibrium with the

329(Fs)

help of indifference curve. 10
OR

Prove that there is an opposite
relationship between the price of a
commodity and its quantity demanded.
Use diagram. | 10
& 2 us difershr 3R oo g7 3= aweEd

6+ 4

AT
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26.

27.

27.

16
i osts and
ts yvariable €
t are fixed cOStS; ' e help
W?‘i costs ? Explain them with o
tola r
of a table and diagram.
OR
i . tion.
write the definition of produc o
i rt-run
Differentiate between sho i

long-run production.

ﬂ@?maﬁmﬁaﬁwmaﬁm

HfT | 10
qar

qut Wi % i g FuRo f6d

WHR e & 2 TS | 10

Discuss the production method of

measuring the National Income. 10
OR

How is price determined under perfect
competition ? Explain. 10
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